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INSTRUCTIONS
Use black ink.
Write your answer to each question in the 
Answer Booklet. The question numbers 
must be clearly shown.
Fill in the boxes on the front of the Answer 
Booklet.
Answer ONE question in Section A, ONE 
question in Section B and ONE question in 
Section C.

INFORMATION
The total mark for this paper is 75.
The marks for each question are shown in 
brackets [ ].
Quality of extended response will be 
assessed in questions marked with an 
asterisk (*).

ADVICE
Read each question carefully before you 
start your answer.
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 (a) Translate ‘iamque … cassis’ 
(lines 1–5). [5]

 (b) ‘hospitibus quondam socerisque 
vocatis’ (line 6): why do the 
ambassadors describe the Latins in 
this way? [2]

 (c)* In lines 7–20 (‘quos bonus … 
ignem’), how does Aeneas 
demonstrate admirable qualities?

  You should refer BOTH to the 
content AND to the language of the 
passage. [15]

 (d) ‘tum senior … Turnus’ (lines 23–30): 
how does Virgil make clear Drances’ 
support for Aeneas? [6]
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 (a) ‘o fortunati … laeta’ (lines 1–5):

  (i) why might a soldier describe 
merchants as ‘fortunati’? [2]

  (ii) why might a merchant 
disagree? [3]

 (b) ‘agricolam … in urbe’ (lines 6–9): 
how does Horace show that 
irrational jealousy is common? [3]
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 (c)* In lines 1–13 (‘at nos … iniquam’), 
how does Horace emphasise his 
disapproval of the way people 
confuse virtues and vices?

  You should refer BOTH to the 
content AND to the language of the 
passage. [15]

 (d) Translate ‘optimus … eadem’ 
(lines 14–18). [5]
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 (a)* How does Virgil emphasise the 
unusual nature of Camilla’s 
development?

  You should refer BOTH to the 
content AND to the language of the 
passage. [15]
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 (b) ‘ergo inter … vertit’ (lines 1–6): 
explain what makes Tarchon’s 
actions and words effective. [4]

 (c) Translate ‘at non … altos’ 
(lines 8–12). [5]

 (d) ‘haec effatus … aufert’ (lines 13–16): 
how does Tarchon demonstrate 
the courage he expects from his 
troops? [3]
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4 Read the following passage and answer 
the questions.

utcumque mecum vos eritis, libens
insanientem navita Bosphorum

temptabo et urentes harenas
litoris Assyrii viator,

visam Britannos hospitibus feros
et laetum equino sanguine Concanum,

visam pharetratos Gelonos
et Scythicum inviolatus amnem.

vos Caesarem altum, militia simul
fessas cohortes abdidit oppidis,

finire quaerentem labores
Pierio recreatis antro.

vos lene consilium et datis et dato
gaudetis, almae. scimus ut impios

Titanas immanemque turbam
fulmine sustulerit caduco,

5

10

15
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qui terram inertem, qui mare temperat
ventosum, et urbes regnaque tristia

divosque mortalesque turmas
imperio regit unus aequo.

magnum illa terrorem intulerat Iovi
fidens iuventus horrida bracchiis

fratresque tendentes opaco
Pelion imposuisse Olympo.

sed quid Typhoeus et validus Mimas,
aut quid minaci Porphyrion statu,

quid Rhoetus evulsisque truncis
Enceladus iaculator audax

contra sonantem Palladis aegida
possent ruentes?

Horace, ‘Odes’ 3.4.29–58

20

25

30
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 (a) Translate ‘utcumque … amnem’ 
(lines 1–8). [5]

 (b) ‘vos Caesarem … almae’ 
(lines 9–14): explain how the Muses 
assist Augustus. [4]

 (c) Why do you think Horace tells the 
story of the Gigantomachy (the 
Battle of the Giants) in this ode? [3]

 (d)* In lines 14–30 (‘scimus … ruentes’), 
how does Horace show the power 
and superiority of the gods?

  You should refer BOTH to the 
content AND to the language of the 
passage. [15]
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 (a) ‘ibit … potes’ (lines 1–4): how would 
the support of Bagoas help Ovid to 
deceive the husband? [4]

 (b) ‘linigeram … ad Isim’ (line 5):

  (i) why does Ovid describe Isis as 
‘linigeram’? [1]

  (ii) why do you think Ovid uses Isis 
as his example here? [2]

 (c)* In lines 7–24 (‘conscius … dedit’), 
how does Ovid try to persuade 
Bagoas that his proposal is 
straightforward and beneficial?

  You should refer BOTH to the 
content AND to the language of the 
passage. [15]

 (d) Translate ‘dum nimium … duobus’ 
(lines 25–29). [5]
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SECTION C

Answer ONE question from this section.

In your response you are expected to draw, 
where relevant, on material from those 
parts of the text that you have studied in 
English, as well as those parts you have 
read in Latin.

6* ‘There is nothing noble about the 
conduct of the characters Virgil 
describes in ‘Aeneid’ Book 11.’ How far 
do you agree? [20]

7* How far do you agree that Horace’s 
main objective in ‘Odes’ Book 3 is to 
promote Roman values? [20]

8* ‘It is difficult to respect Ovid as he 
presents himself in ‘Amores’ Book 2.’ 
To what extent do you agree? [20]

END OF QUESTION PAPER
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